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Agricultural Mathematics and Elementary Statistics (Paper-V)
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(Only for Agriculture Part-I)
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Note :(i) There are in all 17 questions in this question paper. All questions are
compulsory.

(i) Marks allotted to each question are given against it.

(iii) Write the steps of solution of each question in your answer book except
question No. 1.

(iv) Start from first question and proceed to the last. Do not waste time over
a question, if you can not solve it.

(v) Do all rough work in your answer book.

1. 39U & TI% U8 & IR & o IR fadbeq faw M €1 Fet 3R 30 7R gRaad d
fafae :
Four options are given in each part of this question. Write the correct answer in
your answer book:
(B) afg 2x+6 = §<+1 & Al x B A &N - 1

If 2x*¢ = 8**1 then the value of x will be -

0 o Ol an 5 v 3
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(@) e k+2, 4k-6 AT 3k-2 I TR 0N & T HINE IS € a9 k B 74 -
1

If k+2, 4k-6 and 3k-2 are three consecutive terms of an AP (arithmetic

progression), then the value of k is -

(M3 (i) -3 (i) -4 (iv) 4

() i sino+coso =+2, a9 tane + cot 0 HAF & - 1
If sin® + cosO = \/5, then the value of tano + cot@ is -
@Gy i (i) 3 (i) 2 (iv) 4

() afe 3ribel 11, 8, 9, 2k-1, 11, 12, 18, 14, 16, 12 & §gAA® 11 & d k BT AN &-1
If the mode of the data 11, 8, 9, 2k-1, 11, 12, 18, 14, 16, 12 is 11, then
the value of k is -
iy =5 (i) 6 (iiiy 7 (iv) 4

(5) <Remaii 14, 20, 6, 28, 34 3iR 36 BN FHR HIET & - 1
The arithmetic mean of numbers 14, 20, 6, 28, 34 and 36 is -

() 32 (i) 23 (iii) 24 (iv) 31
i 1 X
g o7+ 57 = g A x B HAH §1 i 1
X
If 61 + Z1- 8l find the value of x.
cos 689 cos 8° + sin 68° sin 8° T A A dIfSTT] 1

Find the value of cos 68° cos 8° + sin 68° sin 8°.

5sinB — 2cosp
5sinf +2cosp

P 4 3 DIl 1

5sinB-— 2cosp
5sinB +2cosP °

J&TUTi 8, 1, 6 B ToTE 3P BT HIed I el bl SISO AN 3T difore| 1

Find the algebraic sum of the deviations of observations 8, 1, 6 from their

gfe 5 tan p=4, 99

If 5 tan B=4, then find the value of

arithmetic mean.

MBS 320, 130, 190, 220, 280, 290 T 300 B HIEABT STTd HITTC| 1
Find the median of data 320, 130, 190, 220, 280, 290 and 300.
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i A+B = 45°q) fag Fifse &6 - 2
If A+B = 45° then prove that -

(1+tan A) (1+tan B) = 2

ﬁﬂ%@ﬁ?’%ﬁﬂﬁﬁ, 10T AT 1647 Ug PHYT: x, y ATz &, A g dfowe 6 x, v,
z ﬂUﬁ?R ot F €l 2
If the 4th, 10th and 16th terms of a geometric progression are x, y and z
respectively, then prove that x, y, z are in geometric progression.

meoﬁém%am 2
Draw a histogram from the following frequency table -
il 3RTeT 0-10 10-20 20-30 30-40 | 40-50 | 50-60
Class Interval
JRERAT 4 16 25 30 5 4
Frequency
gfe F=fciRad SRERAT S BT THR HIET 6 © dl p Bl HF 5Td HIfTe- 2

If the arithmetic mean of the following frequency distribution is 6, find the value
of p -

X, 2 4 6 10 p+5

F 3 2 3 1 2

frfeiRad aridst & mftadT s SIS - 2
Calculate the median for the following data -

X, 155 21 2.7 30 35

f 3 5 6 7 8

Ueh TTH & 37K b ST T ot 18 Tt sik wwyol uss 552 a1f FHI &1 9 i+l DRI
&I TNTHA S DHifoTe| 4

The diagonal of a cuboidal solid is 18 cm and the total surface area is 552
square cm. Find the sum of its three edges.

U AR IgYaT & e 2wl (-1, 2), (3, 4) A1 (8, 2) %lsﬂésa‘}aaﬂﬁasﬁémm
1 BifoTe|

The three vertices of a parallelogram are (-1, 2), (3, 4) and (3, 2). Find the
Co-ordinate of its fourth vertex.
3Idi/OR
freferRad g FHiaRon oI serdl fafdr | & difore -
2X- y+4=0,3x+2y-1=0
Solve the following equations by graphical method -
2X - Y +4=0,3x+2y-1=0
fFreferRad TRFRAT §e & el ageid U1 HIfTe - 4
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Find the mode for the following frequency distribution -

I} 3=RTE 20-30| 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90
Class interval
IRERAT 04 10 16 30 45 20 10
Frequency

15. TP g & A BT HN ARG SerIDR 3R FHURT AT TR 2| Tl T o MR B

16.

17

438 (IFF)

T 14 TeR, EFIGR WA B HaTs 5 Tex a7 a7 df Y0l HaTs 141%‘{*5‘ a‘ratq
&I 3T §Td DIfoTe|
The lower part of a tent is right circular cylindrical and the uppper part is conical.
If the diameter of the base of the tent is 14 meter, the height of the cylindrical
part is 5 meter and the total height of the tent is 14 meter then find the volume
of the tent.

31di/OR
39 9P & 3MER Bt AT 371 DITSTE ol HaTs 8 cm & 3R ST 31 v 6 cm
rsar & Mot & I & a)IeR 7

Find the radius of the base of a cone whose height is 8 cm and whose volume is
equal to the volume of a sphere of radius 6 cm.

et (0, -1), (2, 1) 3R (0, S)W%gaa%gwaﬂasnwﬁgsﬁéaﬁmﬁﬁgaw
&A% ST DI

Find the area of the triangle formed by the mid points of the sides of the trlangle
with vertices (0, -1), (2, 1) and (0, 3).

fr=feRad sReRar §e9 & foiv e & amer 9rey fages s1d difere - 6
Find the mean deviation from the mean of the following frequency distribution-
il 3R 140-150 |150-160 | 160-170 | 170-180 | 180-190 | 190-200
Class interval
IRFERAT 3 6 9 17 10 3
Frequency

3AdI/OR

Fr=feiRad SReRdT §e & foe a9 o= sid Sifse -

Calculate the standard deviation from the following frequency distribution -

I 3R 0-4 4-8 | 8-12 | 12-16 | 1620
Class interval
IRAERAT 2 3 10 3 2
Frequency

X XK XK XKk
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